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University of Mustansiriyah 1% Semester-2021

Department of Chemistry 1%t Exam-paper F
Q1: Circle the right answer for all of the following: (50 points)
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1: According to van der Waal’s corrections if VReal < Vperfect Of any gas that means the e gas. has X N N
Answer: a) non-polar particles b) polar particles @sm%rticle d) bn" icle
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2: Calculate the weight of CO; gas (46 1)ina0.5'% 10‘1 mL cylinder at 20 x 102 kPa and 25 °C. =
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3: Calculate the density of CO; placed in a 22. 4 X 103 mL cylinder at 20 x 10? kPa and 298 K.~
Answer: a) 36.06 kg L* b) 36.06 g L c)36.06 g
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4: According to Graham’s heaviest gas has?
Answer @Iow r;(e’@m/i) high rate c) mifldle rate &i) low density
e (\J\ = <,.UJ\C Qz— oo CL_\b\Q =5 LS 0 BN bt
5 A gas occuples 20 d ot and 760 torr pressure. What would be its volume at STP? —> & . & 4 Ma) A
Answer: @15 ( | b) 15.04 dm’ <1504 L7 d)15.04dm3 w2
Q 5\59 \/\5 4 d\w ((\)\J = : :.5\ xx\7/| <§‘\

6: A vessel contains a certam amount of gas at 80 x 10° Pa. The gas is transferred to another tank

g@ pressure of 20 x 10° e t should be its volume? === J:Q\Pf | olo
Answer:  (a) - i b)o.sPaL QTO.S'Pa‘gm3 d) 0.5 L
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7: According to Avogadro’s law n is
Answer: alp &V
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e proportlonal with volume at constant?
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8: Attractive and repulsive forces between particles are prese,pnal e
Answer: a) perfect gas % bknm—,udeal gas ideal gas g d) noble gas
eSS Vo AGH PSS A (TP ‘(5 Wy e sfioe?
"~ 9: It can follow the direct proportional between temperature and volume through the law, of
Answer: a) Van derWaal b) Graham c) Charles

el oL\ pSN s S Moo N AP
10: The mol fraction of atmospheric pres ual to?
Answer: , a)m e ®) < / c) two d) three

Q2 The iollowmg data have been observed for 10000 mg of CO; gas at 273 K. Calculate the best value of the

I?Ia ss of CO,. | p/10? kPa 1.00 2.00 3.00 | (25 points}
93 V/L 4.00 7.50 11.75
g-pé)\v ad & 555 Nl

Q3: A perfect gas undergoes isothermal expansion, whlch increases its volume by 2.48 dm>. The pi and V; of the

gas are 2 x 102 kPa and 2.14 dm?, respectlvely Calculate the ps of the gas in (i) bar, (i) torr. (25 points)
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